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QUESTION 1

Which three Hadoop distributions are supported on Oracle Cloud Infrastructure (OCI)?
A. Pivotal EMC

B. Apache Hadoop

C. Hortonworks

D. MapR

E. Cloudera

Correct Answer: BCE

QUESTION 2

Oracle Cloud infrastructure (OCI) Block Volume Storage supports sharing a Block Volume among multiple compute
Instances in read/write or read only shareable mode.

Which two file systems should be used to allow multiple compute Instances to read/write data concurrently without any
data loss?

A. Distributed File Systems like Gluster, OCFS2, GFS2

B. Linux File Systems like XFS, EXT4, EXT3, etc.

C. Network File System (NFS)

D. Parallel File Systems like Lustre, IBM Spectrum Scale(GPFS), BeeGFS, etc.

Correct Answer: A

QUESTION 3

Which Is a common business problem for customers running Big Data workloads?
A. Costs associated to process a large scale data set

B. Cost associated with Disaster Recovery for large deployments

C. Ability to process a small data set at the minimum cost as possible

D. Ability to process a large data set at the maximum cost as possible

Correct Answer: A

QUESTION 4
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Which is an accurate analogy for Amdahl\\'s law?
A. There Is no such thing as a free lunch.
B. An orchestra can only play well together If they have a great conductor.

C. When chopping vegetable to prepare a 4 person-meal, 2 persons are going twice as fast as one, but 8 people may
not be 8 times faster.

D. In track and field, the 4xI00m relay is only 17% faster than the world record for individual 400m.

Correct Answer: C

QUESTION 5

You are building a file system of 10TB Storage Capacity with only one file server using "Balanced Elastic Performance
tier" Oracle Cloud Infrastructure (OCI) Block Volume Storage. Balanced Elastic Performance tier throughtput scales at
480 KBPS/GB up to a maximum of 480 MBPS per volume.

Which two options are correct about how many Block Volumes you can attach to the file server to get maximum 1O
throughput?

A. One Block Volume of 10TB size
B. 10 Block Volumes of 1TB size

C. 8 Block Volumes of 1.25TB size
D. 20 Block Volumes of 500GB size

Correct Answer: A
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